Composition of functions

For two functions, fand g, to find (f o g)(x) =

Example: Let f(x)=3x+4and let g(x) = 2x2 —1

Find (f e g)(5) = -C(Cj(Sﬂ - £(as)-1)
| = £(49) = 3+

—

Fihd (ge H(=3) = 9 )= 3(3(—33*‘*\ =9 ("SZ
= (=5)"-

Find (g ° f)(x)
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Honors Pre-Calculus

Function Composition

Perform the indicated operation.

1) glx)=2x+4
h(x) =4x -2
Find g(n(-3))

9(4(5-2) = g(-14)

= Q(-m)+Y :@

3) g((xg 3x+2
Fod (g3 ) = : ( h(2))
3[5(;0“ = 9 (73 3(1)+2
-3

5) gla)=4a~-1
h(a) =4a -2
Find g(h(4y))
< (My)-2) = 9 (Wf -
= Wl (oyf&% = b4y-9%
=\ Gy - q)
7) gln)=4n-3
f(n) =-2n+1
Find g(f(n*))
I <~—3(ﬂl) -Y\> = fj(*ol@’ﬂ
= L}(“&Y\l-%-\\ ——:))

Name \Z/& U
0

2) h() =x>+3
x)=x+1
Find ( (n ;) (—4) = ( ¥))

-1 ] - \«(%) = (-3)°+3
4) h(x)=x-5

o 5« az*\
g(x)— 2x 5x

Find ( o g)(-2) \r\( (‘;3\
W[Fata®- st z)}\{a (3)+10]

:\q(QQ - A6-5 :@

6) g (x) =2x-3
flx)=4x
Find g( (—Zx))

3[%@;)&1 3( ~§x) = &(”?x\ -3

8) g() 4x+4

L = g (%+3))
Cjﬁw& —3(X+351 - jg +Gx+ 9-3 M\_
= 9E<?'+3><1
= H(x=3x)+4
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